
1) 

 

   y = -3x + 9 

 

 

 

 

 

 

 

 

 

 

 

 

 

2)  

 CHOOSE THE GRAPH FIRST THEN USE IT FOR YOUR ANSWERS           (x-5)(x+4) 

 

 

 

 

 

 

    Solve the top  set x = 0 

 

          

 

 

               1 

         1 

 



3)  

    3x – 15 ≥ 0 

    x ≥ 5  

 

 

 

 

 

 

4)  

 

 

 solve the top       

 

 

 set x = 0 

 

 

 7 top left 

 

 

 solve bottom 

 

 

 

5)  

 

         

         A = Pert 

    

         10272e0.058 ∙ 5 

 

 

 



6)  

            Touches at x = -2 and x = 3…exponent of 2 

 

 

 

 

 

 

 

7)  

 

 

   x =
−8

2(1)
= −4    y = (-4)2 + 8(-4) = -16 

 

 if the graph point down then put    – (x+4)2 - 16 

    Use the vertex for the equation 

 

 

 

 

 

 

8) 

                   36∙2  

    x =
8±√64−4(1)(−2)

2(1)
 =

8±√72

2
 = 

8±6√2

2
 

 

 

 

 

 

 



9)  

 

 

 

 

 

 

 

 

 

 

10)  

 

 

 

 

 

 

 

 

11)  

 

 

 

 

       

 

     DOES NOT INTERSECT AT X = 1, the solution is 
42

32
=

16

9
 

 

 

 



12)  

      log10(4x+1) – log(x-9) = 1 

 

 

 

 

 

 

 

 

 

 

13)  

 

 

 

 

 

 

 

 

 

            Use graph 

 

       14000 = 12500 + 1000 ln(t+1) 

       1500 = 1000 ln(t+1) 

       1.5 = ln(t+1) 

       e1.5) - 1 

 

 

 



14)  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

15) 

        10p2 – 21p – 10  = 0 

        (5p + 2)(2p – 5) = 0 

 

 

 

 

 

 

 

16)      3x – 6x – 9 = 3x – 39 

     -3x – 9 = 3x – 39 

     -6x = -30 
 

 

 



17)       2x3 +6x2 > 0 

      2x2 (x + 3) > 0    

                    -3           0  

    Crosses at x = -3 and touches at x = 0 

 

 

 

 

 

 

    Positives because  >  

 

18)  

 

 

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



1)  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2)  

      log10(4x+1) – log(x-5) = 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3)  

        12p2 – 7p – 12  = 0 

        (4p + 3)(3p – 4) = 0 

 

 

 

 

 

 

 

 

 

4)  

 

 

   x =
4

2(1)
= 2       y = (2)2 - 4(2)-8 = -12 

 use vertex to write equation 

 

 

 

 

 

 

 

 

 

5)  

 

     

                           4∙57  

 x =
−16±√256−4(1)(7)

2(1)
 =

−16±√228

2
 = 

−16±2√57

2
 



6)  

 

 

 

 

 

 

          (c) 

 

         (b) 

 

 

7)  

 

 solve the top       

 

 

 set x = 0 

 

 

 7 top left 

 

 

 solve bottom 

 

8)  

 

 

 

 

 

 

 

 



9)  

 

 

 

 

 

10)  

 

 

 

 

 

     DOES INTERSECT AT X = 1, the extraneous solution is 
72

82
=

49

64
 

 

 

 

 

 

 

11)  

   -3y = -7x + 21 divide by -3 

 

 

 

 

 

 

 

 

 

 



12) 17)       3x3 +24x2 > 0 

      3x2 (x +8) > 0  

                     -8           0 

    Crosses at x = -8 and touches at x = 0 

 

 

 

 

 

 

    Positives because > 

 

13)  

 

 

 

 

 

 

 

 

 

            Use graph 

 

       15000 = 12200 + 1000 ln(t+1) 

       2800 = 1000 ln(t+1) 

       2.8 = ln(t+1) 

       e2.8) - 1 

 

 

 

 



14)  

 

    Bottom does not factor 

 

 

 

 

 

 

15)  

 

 

       Set x = 0 

 

 

 

 

          Higher x exponent is in the bottom 

 

 

 

 

16)  

 

 

 

 

 

 

 

 

 



17)  

 

 

 

 

 

 

 

 

     

 

       Touches at x = 2 and is positive x4 

 

18)      7x – 9x – 7 = 6x – 23 

     -2x – 7 = 6x – 23 

     -8x = -16 
 


